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Practice Exercise For Lecture 7
Consider functions f(x) =(x—2)° and g(x) = % Find the composite function
fog(x) and also find the domain of this composite function.
(Ans. fog(x) :(%—2)3, Domainof fog(x) =(—w,0)U(0,+x) )

Let f(x)=x+1and g(x)=x-2. Find(f+g)(2).
(Ans. (f+9)(2)=2(2)-1=3)

Let f (X)=x?+5 and g(X)=2v/x. Find (gof ) (x). Also find domain of (gof )(x).

(Ans. gof (X) = 24/x* +5, Domainof gof (x) = (—0, +0))

Given f(x)= iz ,and g(x) = \/i find the domain of these functions. Also
- X

find the intersection of their domains.

(Ans. domainof f(x)~domainof g(x)=(0,2) U (2,+x) )

Given 1‘(x):x—12 and g(x):%,find (f-9)(3).

(Ans.  (f —g>(3>=‘7” )



